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B2k BBk - BlEk= PlEE=
R EER R R
<% 3 I—eq Lmax Leq I—max Leq Lmax
\ bl
FRIER 72 100 72 100 72 100
1050120 ¥ 51.4 52.8 52.8 54.6 55.3 57.3
e @ 5p) 56.8 72.5 56.1 76.2 60.8 75.4
1050000 % 52.9 55.1 54.5 55.9 51.9 55.4
e @ 5p) 59.8 74.2 61.9 81.1 59.0 79.7
33 56.3 59.9 55.1 57.8 54.9 57.1
105.03.02 —
@ 5p) 64.4 85.1 58.6 78.5 62.6 79.5
33 54.2 56.1 54.1 55.9 54.2 56.4
105.04.25 |—
@ 5p 61.3 84.1 64.3 78.8 62.5 77.1
13 59.8 63.1 53.6 56.9 62.1 64.5
105.05.05 |—
2 3¢ 64.5 86.0 59.8 76.2 66.0 79.7
+ 3 58.0 60.2 55.4 57.4 54.6 56.5
105.06.01
2 38 63.4 78.9 62.0 85.2 57.5 76.5
1050721 -t F 49.2 50.4 47.0 53.1 51.8 53.7
B @ 5p) 61.8 76.2 55.9 72.7 62.4 72.7
L05.08.01 ¥ 57.8 62.0 54.8 59.2 59.9 63.3
e @ 5p) 60.1 78.3 67.2 77.8 67.0 85.4
33 54.9 59.9 455 47.9 44.1 46.6
105.09.01 —
@ 5p) 58.5 76.9 58.6 76.2 69.1 78.6
13 54.4 56.4 55.5 57.8 41.4 445
105.10.26 |—
@ 5p 64.8 80.9 60.0 80.9 54.2 74.1
13 63.0 68.5 54.3 56.1 59.0 63.8
105.11.03 |—
2 3¢ 69.5 87.2 70.2 81.6 65.8 81.4
¥ 3 413 43.3 51.3 54.4 43.8 46.3
105.12.01
2 38 61.9 77.4 55.2 74.2 54.7 69.4
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